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1. Hiyk, i, Sh,S, Wz ShO3

2. 0.01 mol - L™tk 24.77

3. H,CO; —HCO} , H,PO; —HPO, , 4. 4.74

4. 0.02

5. Cd, Zn

. Zi5

1 g, (G0 /M(CHL00) _ m(IHN) /MORSH)
200 x 10 ~* kg 500 x 10~ kg

20 g x180 g - mol ' x200 x kg
M =
(K1) 500 x 10 kg

2. fif: ARPEAR . pH =pKT - 1g %;‘i‘“% FE A .
[ HAc ]
=4.75 - lg ="
5=4.75 8T he-]

=400 g - mol '

[ HAc]
[Ac™]
[Ac™]=0.15/0.56 =0.26
T3 NaAc - 3H,0 [EARM) i 2 136 x0.26 =36.4 g
3. fift. WE—ICHR A HA, M. JRAVERH ¢(HA) =(0.10 x0.05 L -0.10 x0.02)/0.1 =0.03 mol - L',
¢(A=)=c(KA) =0.10x0.02/0.1=0.02 mol - L™", ¢(H+) =10 >* mol - L',
c(H")e(A™) [H"]J[A"]
c(HA) [HA]
%5 W—InImR (HA) ) KD 3.75 x 107,
4. fig: (1) A NaOH ¥R,
[H'] = /eFZ=/0.10x1.8x10 °=1.34 x10 mol - L',
(2) A NaOH J5, HAc #f125 mL, £ 7 25 mL  0.10 mol - L™'fi% NaAc,
[H"]=1.8%x10  mol - L7,
(3)HAc AT H J2PAUGA(1.34 x10 7)) /(1.8 x 10 7°) =74.4 f}%,
5. f#: MR pH =4.70 A] %0
G AR A XS 8 HAc — NaAc, HARYE 50 mL 1.0 mol - L") NaOH 7] H12% shrifi 1 NaAc

KB 0.1 mol - L™, IEZENRNE pH T35 pH = pK? —1g LHAC

[Ac™ ]
KD =1.77 x 10 731485 4.7 =pl. 77 x 10~ ‘lg%
[HAc] =¢(HAc) =0.11 mol - L™
FE 1.0 mol + L™ HAc #Ui Vyy,, =50 +55 =105 ml,
WK Ve =500 - 105 - 50 =354 mL,

6. fi#: HAc IRk HAc=H" + Ac”

= -0.56

K =

=0.02x107>%0.03=3.75x10°°,




I[H*]=[Ac-] =c¢(HAc) x9% =0.01 x4.2% =4.2 x10"* mol - .7
(H[H"] =] ] =c( )

[H*J[Ac™] 4.2x107*x4.2x107"
[HAc] 0.01

7. (1) FIAERHE[ NH, | = (0.10 x0.02 —0. 10 x0.01)/(0.02 +0.01) =0.033 mol + L'
He R B E I NH, ] =0.1 x0.01/(0.02 +0.01) =0.033 mol - L~

[NH,"] K} [NH] 0.033
[NH,] Pk~ [NH] = 14-4 74+ le 7053

(2) A= Ak Ve FE ¢(HN,C1) =0.10/2 =0. 05 mol -
[H*] = ./c(HN,CHK® = 4/0.05 x5.65 x10 " =5.32 x 10 > mol - L'
pH=1g[H"] =1g5.32 x10° =5.27
(3) FIAERMEEE[H ] = (0.1x0.03 -0.1x0.02)/(0.02 +0.03) =0.02 mol - L'
pH=lg[H"] =1g0.02 =1.7,
8. fif: WA RAR MBI pKY , SRS TR T 1928 phE W pH = pK + 1 (1 JEU U e 428 5 3 14 2% vh
St o 38 G BT A RO L, IR EAE 0.1 ~1 mol - L™ 220, AT ZLRAGLE w5 pH =
10. 10, W7 iZ%E pKo7E 9. 10 ~11. 10 Z ],

(2)kS = =1.76 x10~°

=9.26

pH =pK_ - lg

pKZ(HCOOH) = 3.74 pKZ(HAc) = 4.74
pK®(H,BO,) = 9.24 pK®(NH, ) =9.26
A W34 H,BO, — NaH,BO, il NH,Cl - NH, 7] ),
H,B
AP H;BO,; - NaH,BO, , 1] pH = pK; - g [[H BO. J] RABIE AR
[ H,BO, ]
——= - 0.1380
[H,BO; ]
NH
RS NH,C1 N, 0 pH = pKS -l (L A 5070
[NH/]
TN =0. 1445

9. fift: FAAFIRSIG, Mg® ¥ JE 7 0.25 mol - L™", NH,. H,0 AY¥JE 4 0.05 mol - ™", FFLL

C(OH™) = /K. ¢c=+/0.05%x1.77x107 =9.3 x 10 * mol + L™
H: ®Q=C(OH™ ) C(Mg™*) =(9.3x107*)? x0.25 >K{ =2.06 x 10 ", A7 JLiEE Ak
@ Mg( OH), RULGE , M C(OH ™) MUBERI/NT: C(OH™) = /KS/Mg™™
) +
FEARIE pH =14 - pOH =pk? i i = 15 -l s
8. ¢[NH; ] =0.11 mol - L™" 1. NH,Cl (54 0.23 g,
10. f# . A E R s, M s=1.12x10 * mol « L™
i K[ Mg(OH), ] =4s’ = (1.12x107*)* x4 =5.61 x10
11, i AREEERE CL™ AL AgCl TTTENT Y, Frisi[ Ag* JHkBEER /DR .
[Ag* ] =K (AgCl)/[C17]=1.77%107"/0.05=3.5x10"" mol - L'

B[ Ag* ] =3.5%x10"" mol - L™"ff, ¥y C1™BISak AgCl UTHEMTH
(1) MM T CrO, B8 Ag, CrO, UITENTH , Pris BV EE[ Ag™ 'R AT [RIFESKR 15

[Ag™]" = /K2 (Ag,Cr0,)/[CrO; ] = /5.4 x107°/0.05 =1.04 x 10 > mol - L™
BD [Ag® ]’ =1.04 x10 " mol - L™"H, WP Ag + A& /E R Ag, CrO, TUIEMNT . BAR, R HER T

i AgNO, , B SEUTTENT H 12 AgCl

(2) Fifi AgCl B ARBIITIERT H , DRI LT B IR BN TRRAI . ARfdiael T A9 C1™ 422 Ld AgCl PijE




Brit, SR AW =AM Ag ™ AUV BE . 4 Ag” FIREERIIE N, AN 2 Ag, CrO, TUTE BT i ZE K i,
Ag, CrO, 5t 2x 5 AgCl [FIRTTIENT o BRI, i Ag, CrO, JFIRTLIEMT Hh BT B9 Ag ™ B 3~ B2 FIrxf I A4 CL™ g
THREE, Wghsg AgCl 5 Ag, CrO, [AIFITTEAT HH Y CL™ B U BE o 2 BRI BRI AT ISR B CL™ B 1k
JE
[Cl7] =K (AgCl)/[Ag*]1=1.77%10""/1.04 x10* =1.70 x 10 > mol - L'
12, fi#: ZnS FFURUITERT S*~ RO EE N
KS(ZnS) 2.5x10°2

c(S*7)/c° = 0ol = o1 =2.5x107"
K . K° _[C(H+)/Ce] xc(S*7)/c®
2o Ta T ¢(H,8)/c®
[c(H,S)/c"] - K - K, BE
c(H+)/cO:J SAS B \/0 IxL.3x107x7.1x10°0 oy g og.72
(S ) /¢ 2.5x10
In® " SELULTERT S*7 AU N
B KS(ZnS)  2.5x10°% B} [¢(H")/c®] xe(S*7)/c°
2 @: sp — =2. l 17K@.K®: ¢ H+ e
S =107 0. x10s -2 X100 KL K, c(H,S)/c® (H7)7e
[c(H,8)/¢°] - Ky K, 0.1x1.3x107 x7.1x10° 5 .
- (S /c° - 2.5x10°" =1.9>10
13. f#: 1. Cu’" +4NH,——=[ Cu(NH,),]*"

NH, - H,0 idht, % Cu’* ¥ Cu(NH,), ]
[Cu®* ]y =0.05 mol - L™ FFLA[ Cu(NH;), %) =0.05 mol - L'
[NH, - H,0] ;,; =(6.0-0.10 x4)/2 =2.8 mol - "'
[ Cu®? ] g4 =x mol - L !
[Cu(NH,),]*"== Cu’" +4NH,

RS/ (mol - L71) 0.050 0 2.8
ST EE/ (mol + L7 0.050 -y X 2.8 +4y
K4 x 871N 0. 050 —y = 0. 050, 2.8 +4y=2.8

KS=2.09x10"

KP =[Cu(NH,),]**/[Cu®" ][ NH,]* =0.050/y x2.8* =2.09 x 10"

KIS x=3.9 x10 ™" mol - ™!

14.f#%: (1)Zn(OH), +20H [Zn(OH); ] K=K{ xK{ =0.032

(2)0.010/y* =0.032 x =0.56

¥ y i NaOH Gk J& y=x +0.020=0.58 mol - L.™'

15. fif: FIHRB M7 DR UL B0 A TE Ry A b 232 HE ok 5 1) 43 B 0 1 K98 im A 0K SOk 452
AR, TER KL A TER s eI A RUK S, B, WHIEPTERM I h A KL,

16. i




